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’ 100kN/m%#8 2% 1.00/ 000 ~ 3.26 152.27|3m%#8x%[ 000 ~ 0.27| 3.14 16.80| 100kN/m%# 2z % 1.00| 1053 ~ 31.20 152.27|3m%#B% 5| 25.00 ~ 31.20| 3.14 16.80
ZThES 1.00/3.26 ~ 11.05 100.00] #h st [0.27 ~ 11.05] 3.00 16.05 ZTh LSt 1.00] 500 ~ 1053 100.00] #h st | 5.00 ~ 25.00| 3.00 16.05
9 100kN/mM#%# 8% % 1.00/0.00 ~ 3.02 148.08|3m#%E#ZB| - ~ - - —| 100kN/M%#8 2% 1.00| 1058 ~ 28.80 148.08|3m%i#B% % -~ - - -
ZTh LS 1.00| 3.02 ~ 1081 100.00] #hList [ 000 ~ 10.81| 2.98 15.95 Zh s 1.00] 500 ~ 1058 100.00f #hlist | 500 ~ 28.80| 2.98 15.95
4 100kN/mM#%# 8% % 1.00/ 000 ~ 352 156.77|3m%#82%( 000 ~ 0.63| 3.37 18.03| 100kN/m%# 2% 1.00| 10.92 ~ 32.80 156.77|3m%#B8% 5| 25.00 ~ 32.80| 3.37 18.03
ZhLS 1.00| 352 ~ 11.30 100.00] #h st 063 ~ 11.30] 3.00 16.05 Zh s 1.00] 500 ~ 10.92 100.00f #h st | 5.00 ~ 25.00| 3.00 16.05
4 100kN/mM#%#BZ % 1.00/ 000 ~ 3.12 149.81|3m%#8%5%| 000 ~ 0.14| 3.08 16.46| 100kN/m%#E 2z % 1.00| 10.54 ~ 27.60 149.81|3m%#B% 5| 25.00 ~ 27.60| 3.08 16.46
ZThLS 1.00]3.12 ~ 1091 100.00] #hList [0.14 ~ 10.91| 3.00 16.05 Zh s 1.00] 500 ~ 1054 100.00f #hlist | 5.00 ~ 25.00| 3.00 16.05
5 100kN/mM#%# 8% % 1.00/ 000 ~ 279 14410 3mZE#ZB| - ~ - - —| 100kN/M%#8 2% 1.00| 10.67 ~ 23.30 14410|3m%i#BZ % -~ - - -
ZTh LS 1.00] 2.79 ~ 1058 100.00] #hLlst [0.00 ~ 1058| 2.82 15.07 Zh s 1.00] 500 ~ 10.67 100.00| #hlist | 500 ~ 23.30| 2.82 15.07
6 100kN/mM#%# 8% % 1.00/ 000 ~ 142 121.54|3m%E#Z3B| - ~ - - —| 100kN/M%#8 2% 1.00| 1057 ~ 15.40 12154|3m%i#BZ 5 -~ - - -
ZhLS 1.00] 1.42 ~ 920 100.00] #hList [0.00 ~ 9.20] 2.33 12.46 Zh s 1.00] 500 ~ 1057 100.00f Zh it | 500 ~ 1540| 2.33 12.46
7 100kN/mM##BZ % -l -~ - -|amzEZB| - ~ - - -| 100kN/MZE#BZ 2 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00{ 0.00 ~ 5.99 75.09] zh st | 000 ~ 599 1.88 10.06 Zzh st 1.00f 500 ~ 7.10 7509 Zh st | 500 ~ 7.10] 1.88 10.06
8 100kN/mM##BZ % -l -~ - -|amzEZB| - ~ - - -| 100kN/ %22 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00] 0.00 ~ 6.94 87.88] ZnList |0.00 ~ 6.94| 2.63 14.09 Zh st 1.00f 500 ~ 11.38 87.88] #nLis | 500 ~ 11.38| 263 14.09
10 100kN/mM##BZ % -l -~ - -|3mzEZB| - ~ - - -| 100kN/MZE#BZ 2 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00{ 0.00 ~ 6.51 82.04| ZnList | 000 ~ 651 1.79 9.56 Zh st 1.00f 500 ~ 7.76 82.04| #n Ll | 500 ~ 7.76( 1.79 9.56
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ ZhUs ~ Zh LS ~ Zh LS ~
100kN/m##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
Zh LS ~ Zh s ~ Zh LS ~ Zh LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ Zh LS ~
100kN/mM%#E% % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
LS ~ ZHNLS ~ ZThLLst ~ ZTHLS ~
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